
;tkrs f˜zdrh;tkrs f˜zdrh;tkrs f˜zdrh;tkrs f˜zdrh    

Ùq/DhÙq/DhÙq/DhÙq/Dh----nZmthAnZmthAnZmthAnZmthA    

;?ÙB 2022;?ÙB 2022;?ÙB 2022;?ÙB 2022----23232323    

fbyshfbyshfbyshfbysh    LLLL    50505050 

    gq:'rhgq:'rhgq:'rhgq:'rh        LLLL    40404040 

            ;ha;haJha;ha;haJha;ha;haJha;ha;haJha    10101010    

                                                                e[Zb nzeLe[Zb nzeLe[Zb nzeLe[Zb nzeL    100100100100    

gqÙB gZso dh o{ggqÙB gZso dh o{ggqÙB gZso dh o{ggqÙB gZso dh o{g----o/yko/yko/yko/yk 
 

1 . ;ko/ gqÙB eoB/ bk˜wh j'Dr/.;ko/ gqÙB eoB/ bk˜wh j'Dr/.;ko/ gqÙB eoB/ bk˜wh j'Dr/.;ko/ gqÙB eoB/ bk˜wh j'Dr/.    

 2222. gqÙB gZso fszBgqÙB gZso fszBgqÙB gZso fszBgqÙB gZso fszB    GkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkmGkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkmGkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkmGkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkm----eqw s/ nkXkfos eqw s/ nkXkfos eqw s/ nkXkfos eqw s/ nkXkfos 

j't/rk.j't/rk.j't/rk.j't/rk. 
 

GkrGkrGkrGkr----TTTT ftZu gqÙB Bzpo 1 ftZu pj[-ftebgh, ykbh ;EkB GoBk, ;jh-rbs dZ;Dk ns/ 
;jh fwbkB tkb/  15 (i-xv)  gqÙB j'Dr/. jo/e gqÙB d' nze dk j't/rk.    15%2=30 nze 

 

GkrGkrGkrGkr----nnnn ftZu gqÙB Bza 2 s'A� gqÙB Bza 5 S'N/ T[ZsoK tkb/ gqÙB j'Dr/. ਿਜਨ� � ਿਵੱਚ ਅੰਦਰੂਨੀ ਛੋਟ 

ਹੋਵੇਗੀ । jo/e gqÙB fszB nzeK dk j't/rk.        

                 4%3=12 nze 

 

GkrGkrGkrGkr----JJJJ ftZu gqÙB Bza 10 ftZu ekbgfBe (hypothetical) ;fEsh ns/ tk;sfte ihtB 

Bkb i[Vh ;wZf;nk Bz{ jZb eoB Bkb ;zpzfXs 4 gqÙB j'Dr/. fizBQK ftZu'A e'Jh 2 gqÙB eoBk 
bk˜wh j?. jo/e gqÙB uko nzeK dk j't/rk.     02%4=8 nze  

      nzeK dh tzv     

GkrGkrGkrGkr----TTTT pj[-ftebgh, ykbh ;EkB GoBk, ;jh-rbs dZ;Dk ns/ ;jh 
fwbkB tkb/   

15×2=30 nze 

GkrGkrGkrGkr----nnnn 4 S'N/ T[ZsoK tkb/ gqÙB 4×3=12 nze 

GkrGkrGkrGkr----JJJJ ekbgfBe (hypothetical) ;fEsh ns/ tk;sfte ihtB Bkb 

i[Vh ;wZf;nk Bz{ jZb eoB Bkb ;zpzfXs 

2×4=8 AMk 

e[Zb nzee[Zb nzee[Zb nzee[Zb nze    50 AMkAMkAMkAMk 

 

gqÙB-gZso dh pDso    


